tooldata

TCP




TCP

TCP



PERS tooldata gripper :=
[TRUE [[97.4, 0, 223.1], [0.924, 0, 0.383 O]],

i[S’ [23, 0, 75], [1, O, O, O], O, O, O]];



[ i 5
(e, e . 7 ’
‘Y el el .
E7 7.3’ =3

ro or;old

bool




tframe

tool frame

pose

TCP X Yy Z mm
toolO

PERS tooldata gripper := [ TRUE, [[97.4, 0, 223.1], [0.924, 0, 0.383 ,0]], [5, [23, O,
75], [1, O, 0, 0], O, 0O, O];
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tool load

loaddata




X Yy z mm

kgm?2
0 kgm?2

PERS tooldata gripper := [ TRUE, [[97.4, 0, 223.1], [0.924, 0, 0.383 ,0]], [5, [23, O, 75],
[1,0,0,0],0,0, 0]];
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PERS tooldata gripper := [ TRUE, [[97.4, 0, 223.1],
[0.924, 0, 0.383 ,0]], [5, [23, O, 75], [1, O, O, 0], O, 0, 0]];

H
HTCP 223.1 mm
X 97.4 mm
H X' Z' Y 45°
| 5 kg
| /5 mm
X 23 mm




gripper.tframe.trans.z ;= 225.2;
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wobjdata




TCP




robhold

robot hold

bool

TRUE:

FALSE:

PERS wobjdata wobj2 :=[ FALSE, TRUE, "™, [ [300, 600, 200], [L, 0, 0,0] ], [ [0, 200,
30],[1,0,0,0]11;




ufprog
user frame programmed

bool
TRUE:

FALSE:
MultiMove

PERS wobjdata wobj2 :=[ FALSE, TRUE, "™, [ [300, 600, 200], [L, 0, 0,0] ], [ [0, 200,
30],[1,0,0,0]11;



ufmec

user frame mechanical unit

string

ufprog FALSE

orbit_a

PERS wobjdata wobj2 :=[ FALSE, TRUE, "™, [ [300, 600, 200], [L, 0, 0,0] ], [ [0, 200,
30],[1,0,0,0]11;



uframe

user frame

pose

ql g2 g3 g4

ufprog FALSE

PERS wobjdata wobj2 :=[ FALSE, TRUE, ", [ [300, 600, 200], [1, 0, 0,0] ], [ [O,
200, 30], [1, 0, 0,0]11;



oframe

object frame

pose

ql g2 g3 g4

PERS wobjdata wobj2 :=[ FALSE, TRUE, ", [ [300, 600, 200], [1, 0, 0 ,0] ], [ [O,
200, 30],[1,0,0,0]111;
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PERS wobjdata wobj2 :=[ FALSE, TRUE, ™, [ [300, 600, 200], [1, O,
0,0]], [ [0, 200, 30], [1, 0, 0,0]11;

>

>

> x=300 y=600
z=200 mm

> x=0 y=200

z=30 mm




loaddata

GripLoad MechUnitLoad

loaddata tooldata



mMass

num

cog

center of gravity

pos

mm




axes of moment

orient

cog
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| X
Inertia X

num

1z

kgm?2

0 kgm?2

IX

ly







ly

iInertia y
NuUuMm
y kgm?2
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Inertia z
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Z kgm?2



PERS loaddata piecel =[5, [50, 0, 50], [1, O, O, 0], 0, 0, O];

5 kg

x=50 y=0 z=50 mm




Set gripper;

WaitTime 0.3;

GripLoad piecel,;

piecel



Reset gripper;

WaitTime 0.3;

GripLoad loadO;

diiiii
R



PERS loaddata piece2 :=[ 5, [50, 50, 50], [0, O, 1, 0], O, O, 0];
PERS wobjdata wobj2 :=[ TRUE, TRUE, ", [[O, O, 0], [1, 0, 0,011, [ [50, -50,
2001, [0.5, 0, -0.866 ,0] ] I;

loaddata
5 kg
wobj2 x=50 y=50 z=50mm
/ Y 180°
wobjdata
Y -120° x=50 y=-50

z=200mm




PERS

GripLoad MechUnitLoad loaddata




loadO 0 kg
GripLoad MechUnitLoad

loadO
BASE

PERS loaddata loadO :=[ 0.001, [O, O, 0.001], [1, 0, 0,0],0,0,07;




< dataobject of loaddata >
< mass of num >
< cog of pos >

< x of num >

<y of num >

<z of num >

< aom of orient >
< gl of num >

< g2 of num >

< g3 of num >

< g4 of num >

< ix of num >
<iy of num >

< iz of num >




orient

ql g2 g3 g4

orient

num

num

num

num




H .

X = (X1, x2, x3) y =(yl, y2, y3) z=(z1, z2, z3)

X X x1 vy X2




x1ylzl
X2 y2 z2
X3 y3 z3
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0.707
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ql = 3
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CI3 s ] =
0.707
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Y1

robtarget




X
Xx'= c0s30° 0 -sin30°
y=0 1 0
Z’= sIin30° O cos30°
ql =
c0s30° 0 sin30°( a= -
0 1 0 Q3 =
~8n30° 0 cos 30°[ o= -

Z 30°

v s34 14cns30)° 41

)

v s MIT — 1 —eons30°+1
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e

v 1—ens30° —oons30° +1

iy

v oos3)° —cos30° —1 +1
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Z
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X
= 0.965926
= 0

= 0.258819

= 0




